vane_(1<EY)

Date
E:mm_.mné
With a partner, use the given information to complete the table. .
Intercepts m.ﬂc_um m-oﬂmm”.ﬁm—ﬁmﬁﬂ Point-Slope Form Standard Form Graph
SION V=2 X r D [y 5(0-0) moxayEd |, wwv&
(0,4 | Ay o ]
(-8,0) (0, 4) H4-0 - l - - “
—_— 1 £ - X N = J ETEEE
O--% -G+ Mmﬂ%wv RS \ +
— 1{ ¢- ‘ T B,
/\\.IIJK.TVU J\+JI _mﬁou fX._l/\:.l # | 1.
1= -1(0)¥b Dums
ﬁoa..“_.u £ .
-1 .U - / b e e uﬁ/. 4
(-1,0) e X A A
A V /_..Lnﬁhv»ao.d iﬁ%.,\/\.l.urf ‘ . ﬂ%ﬂ
0, 4 of SE.EEE
m.l_vQJ y=4x+4 L%(zﬁﬂiﬁ u,,-,,..\wf,w TEX




Intercepts Slope m_cumm...wﬂnhwnmﬁn wc:-n-m_o_.um Form | Standard Form Graph
_ \\,_
s _3 Nz 44
3 ZXEETH {8
h@vi.@d .\.HUUI.. /xﬂ NX.TC-HMU s m - w
i N 3 |ﬂ.@¥+./~qﬁ ﬁ b \4-\., E M..
mw_ Ov y+3=Z(x+5) s Yl
f meNva.le.\m _‘U%I/‘U.I.m.u il ..
{1 J\%AL @ ‘ ” . mm.
~ _Z = WQ-@ | Zx+2y=0  TTTT
hOVOu 3 \W,A\‘M% K /ﬂ
.,P 2x+3y=0 r EEEBSE '
Y= " k=0 =9 “
»
hI\N¥OJ _ w | ] a

619

L

v




